R(27).3 (mod 37)

blocks | defect matrix
G 1 1 20 x 18
2 0 7031 = X2,0, ©2,0
3 0 7032 = Xx2,1,¥2,1
4=3 0 7033 = X2,2, V2,2
) 0 14431 = x50, 5,0
6 0 14432 = x5.1, ©5,1
7 0 14433 = 5,2, ¢5,2
8=5 0 14434 = X6,0, ¥6,0
9="7 0 14435 = x6,1, 6.1
10 = 6 0 ]-4436 = XG’Q, 996,2
11 0 182781 = X15,0, ¥10,0
12 0 182782 = X15,1, ¢10,1
13=12 0 182783 = X15,2, ¥10,2
14 0 548341 = X16+, P11+
15 0 189811 = X19,05 ¥14,0
167 0 189812 = X19,1, P14,1
17 =16 0 189813 = X19,2, P14,2
18 0 990521 = X214, P15+
19 0 990522 = X244, P18+
20 0 990523 = Xx27+, P21+
21 0 590524 = X30+, P24+
22 0 808081 = X33+, P27+




Block 1:

©Y1,0 P1,1 P1,2 P30 P31 P32 P40 P41 P42 P00 P10 P2 P80
11 =x1,0 1 .
1o =x11 1 .
13 = x1,2 1 .
7411 = X3,0 1 .
7412 = X3,1 1 .
7413 = X3,2 1 .
7414 = X4,0 1 .
7415 = xa1 1 .
7416 = X4,2 1 .
21841 = X770 1 .
21842 = X7,1 1 .
21843 = x7,2 1 .
21844 = X8,0 1
21845 = xs,1
21846 = 3,2
414961 = X9+
414962 = X12+ . . . . .
196831 = X20,0 1 . . 1 1 . 1 . 1
196832 = X20,1 1 . 1 . . 1 1 .
196833 = X20,2 1 1 1 1




(Block 1:) | 91 @82 ®90 ©9.1 @92
11 =x10
1o =x1.1
13 =x1,2
7411 = x3,0
7413 = x3,1
7413 = x3,2
7414 = X4
7415 = X471
7416 = X472
21841 = X7.0
21842 = X7.1
21843 = X7’2
21844 = X&O .
21845 = X8,1 1
21846 = X8,2 1
4].4961 = X9+ ]. . '
414962 = X12+ 1 . 1
196831 = X20,0 . 1 ' 1
196832 = X20,1 1 .
196833 = X20,2 1 ' 1

¥1,0
P1,1
©1,2
©3.0
©3,1
©3,2
$4,0
P41
P42
©7,0
Y71
7,2
©8,0
8,1
8,2
©9,0
¥9,1
©9,2



